RME-BH-A T4 vIL—F&

3858 FBHAR—YtE 42—

Ad—F Bad—F
B | feal | 7—L%(3) A7 F—L%Z(GE) =1 TO RS [ 125 | 7—L%(H) =4 F—L% (E) =T TO
1] 910l 5% [ B BIK-#% - B AXBC | wmEC | WEC | WEC [ 1] 910 IBG [z ZFI - Z M XE [ICHIDAI| XB
2]10:00] ik | B BIK- %X - B WHEC | KiFC | KIFC | KIFC [ 2] 10.00] IBfz [  KIF - PN ZE Z0M ZE
3]10:50| X | KIBC - B HEC |BK-#X|BK-%X|BIK-%X[ 3] 10:50] IEfZ [Z& ICHIDAI - Z GFEN X5 =) Xiz |
411140 Xk [~ BIK - 2 ZFNB | XEB| XEB | XEB [4] 1140 lEfiz [Zz 2 - % KiF  [ICHIDAI[ ZEJIl |ICHIDAI
5]1230[ %Rk |E ~ BIK - 5 XEB [FNB|FENB | FENB |[5] 1230| Bz |Zxz  XB - Z__ICHIDAI | ZM Kiz =M
61320 3 [BB ZEIB - 2 XEB BIK BIK BIK |6] 1320 %% RE - & HE BIK HED BIK
7]1410[ 3R |E  FHED - 2 RBE XiZB | XEB | KEB [ 7] 1410 ZHm [Z~ BIK - T hE =B = RE
81500 X [B  FHHD - B _ABB RE RE RE [8] 1500/ %F[& B - Z A BIK = RE
911550 KB RE - 5 KB ER ) E ) HEP [9] 1550l X |&x ~ BIK - X FE = EX ) ER )
3H19H ZFINRKR—Yt 42—
AJd—F Bad—F
Rl | 7—L4%(5) A7 F—L% (B) =1 TO I A A7 F—L% ) = TO
11310 Bz |52  WEB - 2 5 N RE RN ESAEEERY - B ABC | B | FNB | FIB
2[14.00[ BRI (BB ) - ] £ BEB | X5 Aig | 2] 1400 KGE|E ~ HEY - 2 ZFNB | KIBC | KBC | KiFC
3|14:50| IEHZ |5 I - 5 HEB A1z RE £ |3] 1450 XiE|B KIFC - g ZFIB E D) E ) E )
411540 IBGI [~ KRiF - g =®HE N | mEB [ I [4] 15:40 -
5[16:30] JEfZ [ 3HEB - B RE K5 N A#B | 5] 16:30 -
6 [17:20[ B [E KB - I WEB | ®E | BEB [ 6] 17:20 -
3H25H ZFINARTKR—Yt 42—
AJ—F B3I—F
EE el | 7—L%(8) A7 F—L% Ge) =1 TO BEE | f85] | F—L% (8) 37 F—L% ) = TO
T[13:10] JER [ W& - B ICHIDAI | K& | ZiM ABE [1]1310][ X[z CMB - Z & [ FNB| F=E [ FB
2[1400[ IEGI [~ KB - 5 2N 3 | ICHIDAI[ICHIDAI| 2| 14:.00] 325k | & ZIIIB - X ®BE CMB | #f | CMB
3[1450[ BRI [ KB - g W ICHIDAI[ Z3 2M [3] 1450/ K| CMB - X HE ZENB | A HED |
4 [15:40] G [ ICHIDAI - B2 2N XE S XE 4] 1540 X | & FEIIB - X CMB | HE RE |
5116:30] B [ BB 3R - B 2 |ICHIDAI| KE |ICHIDAI| 5] 16:30[ &5k [BB  KEB - B WEC | XiHB | KiFB | KiHB
6 117:20] llEfL | 55 ICHIDAI - 5 X5 R =2 WE [6] 1720 R [ KEB - B ABB | WEC | WHEC | HEC
7118:10 711810 X [BE  HWEC - 5 AXx%B | XEB | AEB [ XEB
3H26H HFBHRKR—Yt 32—
Ad—F Bad—F
B Bal | 7—L%(2) 237 F—L% ) =F TO i | 125 [ 7—L% (8) =4 F—LE(R) &1 TO
1] 910|XFR|[E CMB - g5 RB BIK BIK BIK |1] 910[ X |& BIK - Z REBE cMB [ ZENIB | CMB
211000 X |%H CMB - H  BIK RE RE RE |2]1000] ZF [z CMB - =z FIIB BIK RE BIK
31050 X [EH KB - 2  BIK CMB | CMB | CMB [3] 1050 &k [&  BIK - Z ZFNB [ cvB | RE | RE
41140 BEL [Z__ EI - T XiF EPL xE =M [4] 1140 XFE | &~ CMB - x KRB BIK | ZEIIB | FEIB
5112:30] JBfr [Z& 22 - Z _ICHIDAI [ &I 5 I [5] 12:30] IBfr | BB FaEd{u - B FaEAu [ PG TG FFIGL
6 [13:20[ Bz [Zz KB - I ZOW [ICHIDAI] =W [ 6] 13:20] BRI [ F.#3fu - B P | ol | FoEAGL | FoFAGL
7114:10] JIEfz [Z  ICHIDAI - X K =) 2 KE [7]1410] B | B FaE2{u - B FaEEu | P3| T3 | FaEIML
8 115:00] IEfL [Z  ZM - . KB ICHIDAI[ Ki5 |ICHIDAI| 8| 15:00] BT |58 FaFE1fu - B FEIAL | B2 T2 | FaE2(L
9[15:50 9] 15550




